ER-IERRREE-RR

SHTEs 2B RE
SEXEE BEMESRL

FFRFHRX B ] I
EWTHREE |— RS XS FHER
HBETH EEELHT-Hhig E'J‘I‘Il’ﬁ_
- C2kE) |ZEmERBEE [
(EWKE) |TERSEHEE 107
i e |ERIREET17, FI7EE=16.7, FA I 71=206, £978)11 7eii=0.1,
REAMBEBEE o) mut=16, ) Fidi=77, 2| Fisi=32.3
#oK HoE RRERE=(12, 9.7), XEJ)IFRE=(12, 82.9)
f'ff?glg*ﬁﬁ RENTRIES B/, HEIKR HE)IEFE]
B e fEE 20m/s
28, FHRE ELE 25m/s
. fE 20m/s EFES
== iz 5
RAE FHRE B 25m/s TERS
= = 7y i 1285 IR E DIFES10cm
o REORZ D 1 2B B E ) E200m
BB HEES 6.0m
= BT 1.4m
< REREEREE |15
TERERREE |64
e s e e | X ENITRIEE=0.3, FIGREE=13.3, FFER)IRE=164, FF)IFRiH=72,
RAREIEMEE | o)) 125, %511 Flsi=6.1 ZRE 1| Fisi=25.8
N e * LREIRE=(7, 8.7), FIGRE=(7, 12.1), BRAJIFRE=(7, 12.5),
#K CEE S IIFeis= (7, 6.1), FEJIIFE=(0. 74.6), HE)IIFEi=(15, 22.2)
BEMNAATR R T UES /0], HEIKR B0 RFE]
o . fEE 12m/s
A YRR T e
: o . fEE 12m/s EFH#ES
ne FHEE B T5m/s TEFS
. = - i 12058 & E D FES5cm
ARE (KB REOR WL BB E RS 0om
KR e 3.0m
=i B 1.1m
= EEZICKVBEENTHEINDEA
BE
i - =t 100m
b1 1Ri2 B 500m
BrI% &/NBE30% T, ENEE50%
BER 1.IEEDFESHM30emLl L H-T=15E
/= 2FBEMOMULEH>TREEMNISCULDISE
Ea XH] BEZEACUT
i B -BEHICRESEBICUT
EK-ESE ZLWVEK(BE)ANFREINSGES

(5o R R0 R P Rl A R TR 2R

e

[110mm

NREREEY AEFEEH OMAShEICLIREBEERLTVET,



